Rule 5/ Case 5 Quiz

8 responses

Publish analytics

KEYS

A, 4/2, the nose of the ball touching the B-20. The QB throws a pass |_|:| Copy
toward an eligible receiver that is incomplete at the B-15. (5-3-3b)

8 responses

@® B, 1/10, B-20
@ B, 1/10, B-20 plus 11 inches
@ A, 4-2,B-20

A, 3/6, A-40. The fullback runs around the right end to the A-44. During LD Copy
the tackle, a linebacker grabs the fullback’s facemask and releases it as

he falls to the ground. After the play, the fullback swears at the

linebacker. (5-1-2)

8 responses

@ A, 3/16, A-30. Both penalties
are assessed

® A 3/6, A-40. Penalties offset

@ A, 1/10, A-34. Both penalties
are assessed

@ A 4/12, A-34. Both penalties
are assessed




A, 3/10, B-20. Runner is running around the right end when he is hit and
fumbles at the B-24. A defensive player recovers the ball at the B-25 and
attempts a backward pass to a teammate. A Team A player intercepts

the pass and is tackled at the B-28. (5-3-1, 3-4-3)

8 responses

@ A, 1/10, B-28. Clock starts on
the ready

@® A, 1/10, B-28. Clock starts on
the snap

@ A, 3/18, B-28. Clock starts on
the ready

@ A, 3/18, B-28. Clock starts on
the snap

K, 3/9, K-10. A kicker quick-kicks from the K-5. The kick is short and
muffed by a receiver at the K-25. The ball rolls into K's backfield, where a

kicker falls on the ball at the K-8. (6-2-3; 5-1-3f)

8 responses

® R, 1/10, K-8
® K, 1/10, K-8
@ K, 4/11,K-8

10 copy

I8 copy



K, 4/10, K-23. K leads 21-20 with less than 2 minutes remaining in the I_D Copy
game. K8's punt is very short and R23 signals for and makes a fair catch

at the K-40. A chooses to snap from the right hash. During the next play,

B12 interferes with A88’s attempt to catch a pass and B15 intercepts the

ball at the B-28.

8 responses

@® A, 1/10, B-25. A must snap from
the right hash

@® B, 1/10,B-28

@ A, 1/10, B-25. A can choose to
have the ball placed in the
middle for a free kick to possibly
score a field goal.

K, 4/10, K-23. A legal scrimmage kick is blocked and rolls to the K-28. A I_D Copy
receiver muffs the ball, which rolls to the K-20. A kicker picks up the ball
and punts it again, and the ball rolls out of bounds at the K-45. (5-1-3e, 6-

2-1, 6-2-3)

8 responses

® R, 1/10, K-20. The ball is dead
when K32 recovers it

® R, 1/10, K-15. lllegal kick and
the ball is dead when K32 kicks
it

@ R, 1/10, K-45. K32’s punt is
legal
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